



$$\frac{4}{9} \times 3 = \frac{4}{9} + \frac{4}{9} + \frac{4}{9}$$

$$= \frac{4 \times 3}{9} = \frac{12}{9} = \frac{4}{3} = 1\frac{1}{3}$$

처음부터 약분하여 계산할 수도 있습니다. $\frac{4}{\cancel{9}^3} \times \cancel{3}_1 = \frac{4}{3} = 1\frac{1}{3}$

$$\frac{1}{9} \times 4$$

$$\frac{1}{9} \times 12$$

$$\frac{2}{9} \times 5$$

$$\frac{2}{9} \times 6$$

$$\frac{5}{9} \times 4$$

$$\frac{8}{9} \times 12$$

$$\frac{1}{3} \times 4$$

$$\frac{1}{3} \times 9$$

$$\frac{2}{3} \times 6$$

$$\frac{2}{3} \times 8$$



정답